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1). Ais B's wife's husband's brother. C and D are
sisters of B. How is A related to C?

(a) Brother (b) Sister-in-law (c) Wife (d) Sister

2). In the following question, select the related
word from the given alternatives.
Clock : Time :: Ammeter : ?

(a) Voltage (b) Heat (c) Current (d) Watt

3). Jaya walked north from her house with her son
Rakesh. Rakesh's school bus took him to the
right before the signal point. Jaya continued
on the same line and put petrol in the scooter.
She then turned to her left and went to a
supermarket. Which direction is the supermarket
from the petrol pump?

(a) East (b) South (c) North (d) West

4). Which answer figure will complete the pattern
in the question figure?
Question Figure :

Y ld

Answer Figure :

@ @ @)
(a) Fig.(1) (b) Fig.(2) (c) Fig.(3) (d) Fig.(4)

5). Consider the given statement/s to be true and
decide which of the given
conclusions/assumptions can definitely be
drawn from the given statement.

Statements:

1) Some principals are teachers.
2) All teachers are students.
Conclusions:

I. All principals are students.

Il. Some students are principals.

(a) Only conclusion | follows

(b) Only conclusion Il follows
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(c) Both conclusion | and conclusion I follow

(d) Neither conclusion | nor conclusion Il follows

6). Three friends A, B and C are standing around
an equilateral triangle park in such a way that A
and B are standing at the base and C is
standing at the top corner. The measure of each
side is 6 meters. B is standing at the south-east
of C. A and B walk towards North-West and
North-East respectively for 6 meters at 60-
degree angle. Then B and A turn towards their
left and right respectively and meet at C. What is
the distance between A and B now?

(a) 6 meters (b) 0 meters (c) 28 meters
(d) 7+2 meters

7). Deepu started his journey from A and moves 2
km towards South, then he turns right and
moves 1/2 kilometre. Again he takes a right turn
and walks 2 km. Now he takes a left turn and
walks 3 km more. How far he is from the starting
point?

(@) 35km (b) 25km (¢) 7.5km (d) 1.5km

8). Consider the given statement/s to be true and
decide which of the given
conclusions/assumptions can definitely be
drawn from the given statement.

Statement:

1) All elephants are men.

2) All men are socks.
Conclusion :

I: Some socks are elephants.
[I: All elephants are socks.

(a) Only Conclusion | follows
(b) Only Conclusion Il follows

(c) Both Conclusions | and Il follows

(d) Neither conclusion | nor |l follows

9). Aseries is given with one term missing. Select
the correct alternative from the given ones that
will complete the series.

D4w, G9T, J16Q, ?

(a) L25N  (b) P25M (c) O25J (d) M25N



10). In the following question, select the related
group of letters from the given alternatives.
BD: YW :: HJ: ?

(a) SR (b)QQ (c)SQ (d)ST

11). A series is given with one term missing.
Select the correct alternative from the given
ones that will complete the series.

AZ, GT, MN, SH, ?

(@) YB (b)VE (c)YD (d)RI

12). A series is given with one term missing,
Choose the correct alternative from the given
ones that will complete the series.

19, 28, 39, 52, 7, 84

(a)39 (b)52 (c)67 (d)84

13). Which answer figure will complete the pattern
in the question figure?

= ?

(a) (b)

(c) A (d) \rw !

14). Select the option that is related to the third
term in the same way as the second term is
related to the first term.

K:F:Q:?

(@D ()L (c) O (d) W

15). If the day before yesterday was Friday, what
day will two days after the day after tomorrow
be?

(a) Saturday (b) Thursday (c) Friday
(d) Sunday

16). |f the 23™ of a month is a Sunday, what day it
would have been two weeks and four more days
earlier?

(a) Monday (b) Tuesday (c) Wednesday
(d) Thursday

17). If FAKE is coded as 52106 and MAD is
coded as 1223, then how will DEER be coded
as?

(a) 35418 (b) 36420 (c) 36419 (d) 47520

18). In the following question, select the related
word pair from the given alternatives.
Tongs : Hold :: ?: ?

(a) Shovel : Scoop (b) Oar : Dig
(c) Spade : Row (d) Shield : Feed

19). In a class of 30 students, 16 like football and
18 like volley ball, how many students like both
sports?

(@4 (b)6 (c)8 (d)3

20). If in a certain code ‘OPERATION’ is written
as ‘BWDATXPBJ' and PARENT' is written as
‘WRADJX', how will ‘ORIENT’ be written in that
code?

(a) PSJFOU  (b) BAPDJX (c) BPADJX
(d) BWPDJX

21). Select the option in which Figure-X
is embedded(Rotation is not allowed).

[P=ry

e

I
—

—

(a) |% o) [ © B @
— =

22). Kusum is the wife of Ravi. Govind and
Prabhu are brothers. Govind is the brother of
Ravi. Prabhu is Kusuma’s

(a) Cousin (b) Brother (c) Brother-in-law
(d) Uncle

23). Study the given pattern carefully and select
the number that can replace the question mark
(?)init.

52 | 34

(@) 82 (b)96 (c)74 (d)64



24). Select the letter-cluster that can replace the
question mark (?) in the following series.

TULG, WRPC, ZOTY, CLXU, ?

(a) GIAQ (b)FIBQ (c) FJCQ (d)FICR

25). Ifin a certain way ROCKET is coded as
XLIGVP, then how MOBILE will be coded in the
same manner?

(a) YLNVLR (b) YLNVOR (c) YLNUOR
(d) YLMVOR

26). Direction: The question below consists of a
question and two statements numbered | and |l
given below it. You have to decide whether the
data provided in the statements are sufficient to
answer the question. Read both the statements
and give answer.

Amongst five people - C, D, E, F and G each
have different weights.

Who is the second heaviest among all persons?

I. D is the heaviest person. B is lighter than E
and G.E is the third lightest person.

Il. F is heavier than G. Only two persons are
lighter than G.

(a) Data in statement | alone is sufficient to answer
the question, while the Data in statement Il alone is
not sufficient to answer the question.

(b) Data in statement Il alone is sufficient to answer
the question, while the Data in statement | alone is
not sufficient to answer the question.

(c) Data either in Statement | alone or in statement
Il alone is sufficient to answer the question.

(d) Data in both the Statements | and Il together is
not sufficient to answer the question.

27). A+B means A is mother of B.
A-B means A is sister of B.
A+B means A is daughter of B.
AxB means A is father of B.
PxQ-R+8+T

How P is related to T?

(a) Uncle (b) Brother (c) Mother (d) Father

28). A question and three statements labelled (I),
(Ily and (lll) are given. You have to decide which
statement(s) is/are sufficient to answer the
question.

Question: What is the number of students in
science stream?

Statements:

|. Class teacher remembers that the number of
students is between 25 and 37

. Principal remembers that the number is
multiple of 9 and an even number.

[1l. Monitor of the class remembers that number
of students is a perfect square.

(a) Statement | and Il together are sufficient.
(b) Statement Il and Il together are sufficient.

(c) Statement | and Il or | and |1l together are
sufficient.

(d) Both I, 1l and Il together are sufficient.

29). A question and three statements labelled (I),
(I and (lll) are given. You have to decide which
statement(s) is/are sufficient to answer the
question.

Question: What is the average weight of A, B, C
and D?

Statements:

|. Weight of B is 18 kg more than A and 20 kg
more than C. Weight of D is 40 kg which is 10
kg less than C.

Il. Average weight of B and C is 60kg. A's weight
is 12 kg more than D’s weight.

(a) Only statement | is sufficient.
(b) Statement | and Il together are sufficient.

(c) Data is not sufficient. (d) Only Il is sufficient.

Direction: Each of the questions below consist a
question following two statements numbered |
and Il. You have to decide whether the data
provided in the statements are sufficient to
answer the question. Study the data carefully
and answer the questions accordingly.

30).
) Six people are sitting around a triangle table.
Three of them sit at the corners facing outside
and three are sitting on the sides facing inside.
Who sits third to the right of H?

I. S is not sitting near J. H is not facing outside.
N sits second to the right of L.

1. More than two people sit between L and H.
One person sits between J and H. U sits third to
the right of J.

(a) The data in statement | alone is sufficient to
answer the question, while data in statement Il
alone is not sufficient to answer the question.

(b) The data in statement Il alone is sufficient to
answer the question, while data in statement | alone
is not sufficient to answer the question.



(c) The data in statement | alone or in statement Il
is sufficient to answer the question.

(d) The data in both statements | and statement Il
together are necessary to answer the question.

31). Kamal can do a work in 15 days. Bimal is
50% more efficient than Kamal in doing the
work. In how many days will Bimal do that work?

(a) 14 days (b) 12days (c) 10 days

(d) 10} days

32). A shopkeeper mixed two varieties of rice at
Rs. 20/kg and Rs. 30/kg in the ratio 2 : 3 and
sell the mixture at 10% profit. Find the price per
kg at which he sold the mixture?

(a) Rs. 26 (b)Rs.28.8 (c)Rs.28 (d)Rs.28.6

33). Ajar contains a mixture of two liquids A and B
in the ratio 4 : 1. When 10 litre of the mixture is
replaced with liquid B, the ratio becomes 2 : 3.
The volume of liquid A present in the jar earlier
was:

(a) 20 litre (b) 10 litre (c) 16 litre (d) 15 litre

34). Acan do a work in 18 days, B in 9 days and
C in 6 days. A and B start working together and
after 2 days C joins them. In how many days will
the job be completed?

(a) 4.33days (b) 4days (c) 4.66 days
(d) 5days

35). The sum of money which becomes Rs.2420
at 10% rate of compound interest after two
years is

(a) Rs.2000 (b) Rs.1000 (c) Rs.2500
(d) Rs.1500

36). A sum of money is paid back in two annual
instalments of Rs. 17, 640 each, allowing 5%
compound interest compounded annually. The.
sum borrowed was how much?

(a) Rs. 32,800 (b) Rs.32.200 (c) Rs. 32,000
(d) Rs. 32,400

37). How many seconds will a 120 meter long
train running at the rate of 36 km/hr take to
cross a bridge of 360 metres in length?

(a) 48 sec (b) 40sec (c) 46sec (d) 36 sec

38). There are 14 male employees and 12 female
employees in a department of an organization.
In how many ways can a male and a female
employee be chosen from the department to
represent the department in the employees
union meeting?

(a) 168 (b)20 (c) 145 (d) 180

39). If2A =3B =5C, thenwhatisA:B:C?
(@) 2:3:5 (b) 5:3:2 (c) 6:10:15
(d) 15:10:6

40). A person sold a book for Rs 21 and got a loss
percentage which was numerically equal to the
cost price. What is the cost price (in Rs) of the
book?

(a) 30 (b) 70 (c) Both 30 and 70

(d) connect be determined

41). One third of a certain journey is covered at
the speed of 80 km/hr, one fourth of the journey
at the speed of 50 km/hr and the rest at the
speed of 100 km/hr. What will be the average
speed (in Km/hr) for the whole journey?

(@) 75 (b) 67 (c) 66.66 (d) 76.66

42). The average of 50 results was calculated as
30 but later it was found that while calculating,
73 was taken as 33 by mistake, then what will
be the correct average?

(@) 29.2 (b) 30.8 (c) 31.6 (d) 34

43). The average of marks obtained by A and B is
15 less than that of average marks obtained by
B and C. If the marks obtained by C are 65, then
what are the marks obtained by A?

(@) 35 (b)50 (c)65 (d)80

44) F2x0.72x0.72-0.29:0.39x0.39 is equa|
7é 72x0.39-0.39<0.39
to

(a) 0.39 (b)0.36 (c)0.33 (d)0.45

45). If a train runs at 60 km/h, it reaches its
destination 15 minutes late. But, if it runs at 80
km/h, it is late by 7 minutes only. The Right time
for the train to cover its journey is:

(a) 18 minutes (b) 17 minutes (c¢) 20 minutes
(d) 21 minutes



46). Two numbers are in the ratio 4:5. If their HCF
is 16, then the sum of these two numbers is:

(a) 144 (b) 124 (c) 160 (d) 150

47). Whatis the valueof 13+ {4 of 2—-3 +4 % (6
—-4)?

(@ 1/3 (b) 0 (c)1.3 (d)1

48). \What is (0.08% of 0.008% of 8)1/9?
(a)0.2 (b)0.08 (c)0.8 (d)0.64

49). If60% of (x -y) = 45% (x +y) and y = k% of
X, then 21% of k is equal to:

(@7 ()1 (c)6 (d)3

50). IfA'sincome is 40% of B’s income and B's
income is 24% more than C's income, then by
what percentage is C’s income more than A's
income? (Your answer should be correct to one
decimal place.)

(a) 1042 (b)75.6 (c)101.6 (d)50.4

51). Ifx+y+z=10andxy +yz + zx = 15, then
find the value of x> + y3 +7z3 - 3xyz.

(a) 660 (b)525 () 550 (d)575

52). Ifx + 1/x = 7, then find the value of X2 — 1/x?
(a) 47 (b)45 (c) 7447 (d)21V5

53). What is the compound interest on Rs.5000 in
2 years at the rate of 20% per annum? (interest
compounded half yearly)

(a) Rs.2340.50 (b) Rs.2275.50 (c) Rs.2290.50
(d) Rs.2320.50

54). Rahul scored 66.66% of marks in
15! semester. He scored ‘X’ marks in
2" semester and 77.77% marks in

3" semester. There were six subject in each
semester and maximum marks of each subject
were 150. The overall percentage obtained by
Rahul in all the three semesters together was
75%. Find the value of x.

(a) 725 (b)805 (c)755 (d)780

Direction: The given line graph represents the
revenue trends (in Rs. Crores) of a firm from the
sale of three products B, C and D in 6 years
from 2014 — 2019 . Study the line graph
carefully and answer the question that follows:

Revenue from products B, Cand D

Wl ==

Cramen)
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55). The number of years, in which the revenue of
the company from the sale of product C is more
than the average revenue from the sale of
product B over six years, is:

@z ()3 (c)4 (d)5

56). What is the average revenue per annum of
the company over 6 years?

(a) Rs. 81.67 Crores (b) Rs. 83.33 Crores
(c) Rs. 83.67 Crores (d) Rs. 82.33 Crores

57). Find the value of x, if 21"%+20*=29"
(@2 (b)3 (c)4 (d)O

58). If one-fifth of one-fourth of a number is 35,
then what is seven-eighth of that number?

(a) 6245 (b)612.5 (c)723.4 (d)715

59). A single discount equivalent to three
successive discounts of 8%, 15%, and 12% is:

(a) 17.5% (b) 68.816% (c) 35% (d) 31.184 %

60). The ratio of two numbers is 7 ;: 13 and their
HCF is 8. Their LCM is

(a)628 (b)782 (c)872 (d)728

61). QutubudinAibak, the first ruler of Delhi
Sultanate, had constructed QutubMinar around-

(a) 1199 (b) 1299 (c) 1399 (d) 1499

62). The FRBM (Fiscal Responsibility and Budget
Management Act) rules mandate how

(a) five (b)four (c)six (d)two

63). Sound and light waves both
(a) have similar wavelength

(b) have properties of wavelength
(c) Travel as longitudinal waves

(d) Travel through vacuum



64). A vitamin requires cobalt for its activity. The
vitamin is

(a) Vitamin By, (b) Vitamin D  (c) Vitamin B,

(d) Vitamin A

65). 'Fundamental Rights’ are:
(a) Justiciable (b) non-justiciable (c) Flexible
(d) Rigid

66). Which soil has high pH?
(a) Black Soils (b) Arid Soils (c) Laterite Soils
(d) Saline Soils

67). Who administers the Oath to the Governor?
(a) President (b) Chief Minister

(c) Chief Justice of High Court

(d) Outgoing Governor of the state

68). Government of India Act, 1858, was passed
during the tenure of which of the following
Governor Generals of India?

(a) Lord Curzon (b) Lord Chelmsford
(c) Lord Irwin  (d) Lord Canning

69). Which of the following international
organizations has released its latest report on
“South Asia Economic Focus™?

(a) International Mutual Fund
(b) Asian Development Bank

(c) European Bank for Reconstruction and
Development

(d) World Bank

70). Which one of the following is not related to
centre-state relations?

(a) Sarkaria Commission
(b) Rajmannar Commission
(¢) Puncchi Commission

(d) Kasturirangan Committee

71). ‘Halwa Ceremony’ is related to which event in
the Indian Parliament?

(a) New session of Parliament

(b) Joint session of Parliament

(c) Printing of budget documents
(d) All of the above

72). The Reserve Bank of India (RBI) is the main
authority for deciding the monetary policy of
India. Which of the following Monetary Policy
instruments is/are used by the RBI?

1) Repo Rate

2) Liquidity Adjustment Facility

3) Market Stabilization Scheme (MSS)
4) Open Market Operations

Select the correct answer using the codes
below:
(@) 2only (b)2,3and4only (c)1,2and4only
(d)1,2,3and 4

73). The Vice-President of India acts as Acting
President, when:

(a) the office of the President is vacant due to his
death

(b) the office of the President is vacant due to his
resignation

(c) the office of the President is vacant due to his
removal

(d) All of the above

74). The president exercises executive power
through:

(a) Prime Minister
(b) Council of Ministers headed by Prime Minister

(c) Parliament (d) Vice-President

75). Environment Pollution Control Authority
(EPCA) was notified under which of the
following Acts?

(a) Air (Prevention and Control of Pollution) Act,
1981

(b) Environmental Protection Act, 1986

(c) Water (Prevention and Control of Pollution) Act,
1974

(d) National Green Tribunal Act, 2010

76). The genetic material of a body is constituted
in DNA. Where is this DNA found in a human
cell?

(a) Ribosomes (b) Cell Membrane (c¢) Nucleus

(d) Cytoplasm



77). Which of the following is a non-constitutional
body in India?

(a) National commission for Scheduled castes
(b) National commission for Scheduled Tribes
(c) National Human Rights Commission

(d) Election Commission

78). Who appoints Advocate General of State in
India?

(a) Governor of State  (b) Chief Minister of State
(c) Law Minister of State (d) High Court

79). Income tax of India far any particular
individual can be described by which of the
following taxation nature?

(a) Proportionate taxation (b) Progressive taxation

(c) Regressive taxation (d) Degressive taxation

80). The Articles 245-255 generally deals with
which centre-state relations?

(a) Legislative (b) Administrative (c) Financial
(d) Political

81). Which of the following Governor Generals of
India has been regarded as the maker of
modern India?

(a) Lord William Bentinck
(b) The Earl of Dalhousie (¢) Henry Harding
(d) The Lord Auckland

82). The 102" constitutional amendment act,
2018, was related to

(a) providing 10% reservation to economically
weaker section

(b) a Constitutional Status to National Commission
for Backward Classes

(c) a Constitutional Status to National Commission
for SC

(d) a Constitutional Status to National Commission
for ST

83). Which type of Citizenship is provided by the
Constitution of India?

(a) Single citizenship (b) Regional citizenship

(c) Dual citizenship (d) Temporary citizenship

84). The idea of non-cooperation movement
during freedom struggle did not envisage:

(a) the boycott of civil services.
(b) the boycott of foreign goods.
(¢) popular violence

(d) the surrender of British titles.

85). The ambitious information technology project
launched by Coal Mines Provident Fund
Organization is -

(a) Sunidhi Project (b) Suvidha Project
(c) Samridhi Project (d) Samidha Project

86). Which amongst the following foreign
travellers didn't visit the Vijaynagar Kingdom?

(a) Ibn Batuta  (b) Nicolo de Conti
(c) Abdur Razak (d) Hiuen Tsang

87). Low salinity in equatorial regions is due to :
(a) daily rainfall

(b) high relative humidity & cloudy sky

(c) doldrums (d) All of the above

88). What are Directive Principles of State Policy?

(a) Principles that must be followed while making
Chief Minister of State

(b) Rules/Duties that must be followed by states’
people while receiving their fundamental rights

(c) Ideals that State should keep in mind while
formulating policies & enacting laws

(d) State’s Policy for Supreme Court of India

89). ‘Muktoshri’ is a new variety of which crop?
(a) Rice (b) Wheat (c)Mustard (d) Millet

90). Who has been appointed as the new Director
General of the Border Roads Organisation
(BRO)?

(a) Rajesh Ranjan (b) Rajeev Chaudhary
(c) Uday Banerjee (d) Ravish Shukla

91). How many Parts, Articles and Schedules
were there in the original Indian Constitution?

(a) 22 Parts, 395 Articles and 8 Schedules
(b) 24 Parts, 450 Articles and 12 Schedules
(c) 22 Parts, 390 Articles and 8 Schedules
(d) 24 Parts, 425 Articles and 12 Schedules



92). Which Constitutional Amendment bifurcated
the Combined National Commission for
Scheduled Castes and Scheduled Tribes into
two separate bodies?

(a) 42" Amendment  (b) 44" Amendment
(c) 89" Amendment  (d) 93" Amendment

93). Which department prepares the Economic
Survey?

(a) Department of Revenue

(b) Department of Expenditure

(c) Department of Economic Affairs
(d) None of the above

94). In India, which two Indian states are
connected with “National Waterway 5"?

(a) Karnataka and Kerala

(b) Odisha and West Bengal

(c) Andhra Pradesh and Telangana
(d) Haryana and Himachal Pradesh

95). According to a report by India Brand Equity
Foundation (IBEF), by which year India will
become the world's second largest solar
manufacturer?

(a) 2025 (b) 2026 (c)2027 (d) 2030

96). Match List | with List Il and select the correct
answer by using the codes given below the lists:

List 1
A) 04 February
B) 10 February
C) 30 January
D) 28 February
List 2

1) World Pulses Day

2) National Science Day
3) World Cancer Day '
4) World Leprosy Day

Codes:
(a) A-1B-2C-4D-3 (b)A-3B-1C-4D-2
(c)A-1B-2C-3D-4 (d)A-3B-1C-2D-4

97). is also known as controlled
economy or command economy.

(a) Market economy (b) Planned economy

(c) Mixed economy (d) None of the above

98). Which of the following components of the
Indian constitution are also envisaged in the
Universal Declaration of Human Rights?

1. Fundamental Rights
2. Directive Principle of State Policy
3. Fundamental Duties

Select the correct answer using the codes given
below:

(a)1,2and3 (b)1and2 (c)1and3

(d) 2and 3

99). Parliament session begins with

(a) a meeting between the President, the Council of
Ministers and the Leader of the Opposition

(b) an address from the Speaker of the Lok Sabha
(c) President's Joint Addresses in both Houses

(d) swearing-in by all new members of Parliament

100). Under IPC, Criminal Conspiracy is covered
in

(a) Section 115 (b) Section 120
(c) Section 120A (d) Section 121



